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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 8,829 2 5519 3 6,453 4 4,773 X
X 3 X o] X 7 X 7 '
2.
3.
4.
5 1,072 6) 9,924 ) 3,028 8 9,310 i
X 8 X 7 X 5 X 3 '
6.
7.
8.
9 7.813 100 2,473 1) 1,264 12) 1,241 .
x 4 X 7 X 8 X 6 '
10.
11.
12.
13) 9,547 14) 3,483 15 6,769 16) 4,410 .
X 3 X 6 X 2 X 2 '
14,
15.
16.
1) 3,633 18) 6,936 19 8,162 20) 7456 .
X 7 X 8 X 5 X 4 '
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1 2 3 4
) 8,829 ) 5,519 ) 6,453 ) 4,773 . 26487
X 3 X 9 X 7 X 7
26,487 49,671 45,171 33,411 , 49,671
s 45171
. 33411
5 6 7 8
) 1,072 ) 9,924 ) 3,028 ) 9,310 s 8576
X 8 X 7 X 5 X 3
8,576 69,468 15,140 27,930 6 69,468
- 15,140
8 27,930
9 10 11 12
) 7,813 ) 2,473 ) 1,264 ) 1,241 o 31252
X 4 X 7 X 8 X 6
31,252 17,311 10,112 7,446 0 17,311
11 10,112
1. 1,446
13 14 15 16
) 9,547 ) 3,483 ) 6,769 ) 4,410 13 28,641
X 3 X 6 X 2 X 2
28,641 20,898 13,538 8,820 u 20,898
15, 13,538
6. 8,820
17 18 19 20
) 3,633 ) 6,936 ) 8,162 ) 7,456 o 25431
X 7 X 8 X 5 X 4
25,431 55,488 40,810 29,824 18, 55,488
1. 40,810
o0 29,824
1-10 | 95| 90 75(70( 65|60 |55|50
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